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Consider the following force vectors.
A = (4N, 7N) B = (-10N, -1N) C = (-5N, 5N) D = (7N, -4N)

E = (12N, 7N) F = (8N, 0N) G = (0N, 4N)

Determine the resultant vector for each addition specified below.

1.  H = A + B H = (4N + -10N, 7N + -1N)
 H = (-6N, 6N)

2.  J = C + D

3.  K = D + B

4.  M = E – F

5.  N = G – D

6.  P = C – B

7.  Q = A + D – E + G

8.  R = F + C – B – D
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Consider the following force vectors.
A = (4N, 7N) B = (-10N, -1N) C = (-5N, 5N) D = (7N, -4N)

E = (12N, 7N) F = (8N, 0N) G = (0N, 4N)

Determine the resultant vector for each addition specified below.

1.  H = A + B H = (4N + -10N, 7N + -1N)
 H = (-6N, 6N)

2.  J = C + D J = (-5N + 7N, 5N + -4N)
 J = (2N, 1N)

3.  K = D + B K = (7N + -10N, -4N + -1N)
 K = (-3N, -5N)

4.  M = E – F M = (12N – 8N, 7N – 0N))
 M = (4N, 7N)

5.  N = G – D N = (0N – 7N, 4N – -4N )
 N = (-7N, 8N)

6.  P = C – B P = (-5N – -10N, 5N – -1N)
 P = (5N, 6N)

7.  Q = A + D – E + G
Qx =  4N + 7N – 12N +0N = -1N
Qy = 7N + -4N – 7N + 4N = 0N
Q = (-1N, 0N)

8.  R = F + C – B – D
Rx =  8N + -5N – -10N –7N = 6N
Ry = 0N + 5N – -1N – -4N = 10N
R = (6N, 10N)


